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General Comments 
 
Students (and Centre’s) should be congratulated for the way data has been used and manipulated 
to provide applied answers.  For example, in Question 1(b)(i) it was pleasing to see how many 
students had applied the formula given in Item A to calculate the change in break-even that would 
occur if fixed costs rose and many calculated further by how much. 
 
Apart from Question 1(a), all questions require application.  This can manifest itself as ‘context’, 
‘appropriateness’ or suitability.  In Question 1(b)(ii), students were asked for a suitable action to 
solve a problem.  Students who offered actions that referenced sourcing cheaper materials risked 
not being ‘suitable’ as a high quality business would be unlikely to choose that route. 
 
The final part in all questions allocates two marks for analysis and five marks for justification.  For 
analysis, students have a tendency to list points rather than trying to develop them into a chain of 
argument. Judgement is part of the difficult skill of evaluation.  A common weakness is for students 
not to make a judgement, and just list pros and cons.  Making a judgement is vital.  For higher 
marks, use of information and figures is helpful.  A balanced argument tends to attract full marks. 
 
For a balanced argument it is not sufficient to state ‘I have considered the advantages and 
disadvantages and on balance I think the advantages outweigh the disadvantages’.  The 
judgement needs some form of weighting.  For example, in Question 2(c) students are asked to 
say how the business should finance the new frying equipment.  Students could argue for a 
number of different options.  If they chose leasing they could show the benefit to cash flow (using 
figures) and for justification, they could point to the fact that the other attractive options such as a 
loan or a reduction in drawings could be available to fund other expensive items that need to be 
replaced soon as identified in Item B. 
 
Question One 
 
(a) Most students were able to score one or two marks, however, there were a number of 

students who could not demonstrate knowledge and gained no marks. 
 
(b) (i) This question was well answered.  There was excellent manipulation of the figures. 
 
(b) (ii) Many students continued to use break-even calculations here, following on from the 

previous question, which helped with context.  Unfortunately, not all actions were suitable 
as identified in the ‘General Comments’ section. 

 
(c) Some excellent references to the market research were made, but some students 

suggested that 40% of young people thought that the prices were too high when it was, in 
fact, 60%. 

 
There was less use of numerical information in this question than in Questions 2(c)  
and 3(d). 
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Question Two 
 
(a) There was confusion between cash and profit.  This is a recurring issue that restricts a 

student’s ability to gain higher marks. 
 
(b) This question proved to be a good differentiator with successful students using the  

cash-flow forecast to illustrate the impact of leasing. 
 
(c) There was generally good analysis on this question, however, as with other evaluative 

questions, there was a lack of a weighted justification. 
 
 
Question Three 
 
(a) Some students treated the balance sheet as a profit and loss account so subtracted where 

they should have added. 
 
(b) The responses to this question were often disappointing: 

• students seemed to think that the balance sheet was for Thornley’s as opposed to the 
Happy Haddock 

• students suggested that the balance sheet would indicate profits 
• students did not make use of the figures such as the value of premises being close to 

the amount of the loan with the resulting collateral implications. 
 
(c) Students were able to make statements/explanations involving factors such as seasonality, 

competition or quality. 
 
(d) Most students were able to provide answers rooted in the context provided in the item.  

Unfortunately, these answers did not always culminate in a decision. 
 
 
 
Mark Ranges and Award of Grades 

 
Grade boundaries and cumulative percentage grades are available on the Results Statistics 
page of the AQA Website. 

 

Converting Marks into UMS marks 
 
Convert raw marks into Uniform Mark Scale (UMS) marks by using the link below. 

 
UMS conversion calculator   

http://www.aqa.org.uk/exams-administration/about-results/results-statistics
http://www.aqa.org.uk/exams-administration/about-results/uniform-mark-scale/convert-marks-to-ums
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